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/. (&) Explain base-width modufation (the quﬁ effect) and its influence,
(b) Whﬂf JO ’tll? GC}’DH/MNS E/)ROM 4'75/ E)PROM mean \)

(c) Define £ and fr. what s the refationship between fy ard 72
) Whe% IS the f7nifimnce oj the ﬁAff’S/“’/c/ Vo/fa/f V7-/‘n enhance ment—

mode  and depletion —mode MOSFET . | C1870)

2. A [;i/oo/qr transistor s biased at I.= 0 mA and has g, = (L.

(@) Determine ],n and Ky at yeom ‘t‘em/>€)’aflo{/'€.

(b)) The in/’llf vesictance hie = 7.4 kn . Find 1.

) A foad resistance R.=akn is used and the transictor is driver fron
a 300-1L sourte and operated in common— emitter cwg‘/yuraiio/t .

Cctimate the \/0/{—73 /«m‘n. C/-J%)
3.(® For the circuit shown in Fi;, |, verify that Y= 48C.
(b) If B=3¢, what is the fan-out ? V)
q

© What IS the avetaze power dicsipated by the Fate assumin Y= )
S0 percent of ‘Jé f,‘,,,e p g / Zﬂ / (/A%)
(. The circuit in Fig.d is defi/na/ with V= LV, R=30kn, and
Re= [ k. @) and 6y are identical transistors , and the related parameterc
are ‘gfz.)oo) ﬂo:,)ooj \//‘1= oo and }Z:o.

(4) Determine I,
(b)) what ¢ +he /oerCehta/e c/mn/e in Iz, if Vic increases by 0.3y (%)

&, The transistors in the circuit shown in F’/3 are identical and have
= 4k and B,=200,
(a) Determine the value o]lf r each Stage, ascumind Co = Co =

ol = Gy foo . L f A 7 o= Gy= | HF
() What iS the [ower half—power frequenc) of the cascade ) (R}

b (@) For the circuit shown in 7-77,4} determine T, Ay  and /4]:.
() Evauate R"F‘ The MOSFETs fave A ImU, = doka. (/47)
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7. For the oscillator shown in Ff;.f, find the fredzuenc/ of oscillation
'and d’e minimum \/q/ue DJZ R. (/J%)

§ For the /OZ:‘C diagram of the gncﬁronous counter shown in Fig. 6
Wl‘{/}'} ;nl‘fiq/ S-{q e (90 = Q, < Q) =0,

(@) Write the truth table of @, , 0, and @ after each /n(/:e.
(b) This fjffem IS a N:| counter, determine the valde Of N. (/-‘%)






